MC\\} st MPM2D Solve Quadratic Equations
Ms. Kueh
% Factored Lo V= (X-P) (A—5)
Definition:

Quad ratrc Egutotion

is an equation in the form

21 vt (
z ., . 7 N
OX T bxX+Cc=0

where a, b, and ¢ are real numbers and a # 0. = Standact Pyrm

To “Solve a quadratic equation” means F\“b\ X

means solve for the variable. ge L LS ad RS must be <et
Example 1 Solve by factoring

Solve for x. Check your answers by . subsmutlon
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i .= :\ -‘._ / . _
(LD A+1) =0 | W ’/ X (24 +5) = O.

. A question that says Solve ___
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Example 2 Dimensions of a Rectangle

A rectangle has dlmenSlonsL_+ 1landﬁ x—5) lt sareais 10 cm?. What are its
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Expanding/Factoring Review Practice (Optional)

=@AT4)(144)
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Homework: Worksheet — Solving Equations

Worksheet (pg. 279) # 8, 9, 10, 15

h. 942 —-6d+1

=100}

Lé76547;c o+

“0 A.‘:' 5
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16x%2 — 8x + 1
(40 = 2(400) + 1 =

m. 12x% + 19x + 4

n. 4x?> —5x + 16

TIPS practice: #11



